
L2 L1

ca. 1.5 m

Installationsanleitung AP FiberDose für FTTH  
Instructions de montage boîtier fibre pour FTTH 
Guida all'installazione AP FiberDose per FTTH

A1

A –	Varianten / Variantes / Varianti

A2

021.1432 021.1433

Varianten L1 , L2
Variantes L1, L2
Varianti L1, L2

Varianten L1 , L2, L3
Variantes L1, L2, L3
Varianti L1, L2, L3

021.1431

M3x12

M3x20

L2

L3

L1



2

B –	Vorbereitung/ Préparation / Preparazione

B1

021.2541 / 021.6489

B2

021.1435

730 mm

max 5 mm

780 mm

L1, L2, L3

L1 = 620 mm
L2 = 570 mm
L3 = 630 mm

3 mm

C –	 Installation/ Installation / Installazione

1x

C1

021.6490 / 021.1436

1

2

25 – 40 mm

C2

021.1438

021.1439

C3

021.1444 021.1441 / 021.1442 / 021.1443

E2000TM LC, SC

C4



3

C –	 Installation/ Installation / Installazione

021.1440

C5

021.1445 / 021.1446 / 021.1447

C6

021.6487

C7 C8

021.6488

«click»

«click»

M3x12

021.1448

C9

180°

021.1449

2x

C10



Headquarters

Switzerland
Reichle & De-Massari AG
Binzstrasse 32
CHE-8620 Wetzikon
Telephone HQ	 +41 (0)44 933 81 11
Telefax HQ	 +41 (0)44 930 49 41
E-Mail	 hq@rdm.com

www.rdm.com

Please note:
This guide shows the best practices for installation ONLY. R&M expressly disclaims all liability for any damage to material, equipment, 
and for any injury or death. Legal health and safety regulations should have priority over best practices as shown in this guide. R&M 
does not guarantee this guide to be free of  errors. Products included may vary from products shown. Please exercise caution.

89
43

55
/B

/0
12

.2
02

2

C –	 Installation/ Installation / Installazione

021.1450

C11
Bei Varianten L3 
avec méthode L3
con il metodoL3

021.1451

2x

C12
Bei Varianten L3 
avec méthode L3
con il metodoL3

021.1452

C13 C14

021.1454

M3x20

D –	Vorkonfektioniert/ Pré assemblé / Pre-assemblato

D2D1

021.6493 021.6494


